KANSAS CORPORATION COMMISSION RIGINAL OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32432	API No. 15 - 185-23521-00-00
Name: LaVeta Oil & Gas, LLC	County: Stafford
Address: P.O. Box 780	1807W _SE _SW_SE Sec. 6 Twp. 22S S. R. 11W ☐ East West
City/State/Zip: Middleburg, VA 20118	330 feet from S / N (circle one) Line of Section
Purchaser: Plains	1840 feet from (E) / W (circle one) Line of Section
Operator Contact Person: Bennie Griffin	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 458-9222	(circle one) NE SE NW SW
Contractor: Name: Warren Energy	Lease Name: Mary Fischer Well #: 1
License: 33724	Field Name: Max East
Wellsite Geologist:	Producing Formation: Arbuckle
Designate Type of Completion:	Elevation: Ground: 1778' Kelly Bushing: 1786'
New Well Re-Entry Workover	Total Depth: 3666' Plug Back Total Depth: 3650'
OilSWDTemp. Abd.	Amount of Surface Pipe Set and Cemented at 249 Feet
Gas ENHR SIGW	
Dry Other (Core, WSW, Expl., Cathodic, etc)	Multiple Stage Cementing Collar Used? If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	sx cmt.
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan AI+ I MR
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit) 12-12-08
Plug Back — Plug Back Total Depth	Chloride content ppm Fluid volume 555 bbls
Commingled Docket No.	Dewatering method used haul by truck
Dual Completion Docket No.	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name: LaVeta
	Lease Name: Heyen CJ#1 License No.: 32432
7/7/08 7/15/08 7/24/08 Spud Date or Date Reached TD Completion Date or	Quarter_NW Sec. 32 Twp. 22 S. R. 11 East V West
Recompletion Date Recompletion Date	County: Stafford Docket No.: D02847
Kansas 67202, within 120 days of the spud date, recompletion, workow information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, wer or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulaterin are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
Signature: Bennie C. Styli	/ KCC Office Use ONLY
	// ROC Office Use Office
Title: Paro duction Mong. Date: 10-1508	Letter of Confidentiality Received
Subscribed and sworn to before me this 15 day of October	If Denied, Yes Date:
20 08.	Wireline Log Received RECEIVED
90 1	Geologist Report Received KANSAS CORPORATION COMMISSION
Notary Public:	UIC Distribution OCT 1 7 2008
	DIVINIO
NOTARY STATE OF	KANSAS CONSERVATION DIVISION
My Appt. Exp.	7-17-12 WICHITA, KS

Operator Name: LaV	eta Oil & Gas, LLC			Lease	Name Ma	iry Fische	r 	Well #: _		
Sec. 6 Twp. 2	2S S. R. 11W	[] East	✓ West	County	Stafford					en en estado e a
tested, time tool oper temperature, fluid rec	how important tops ar n and closed, flowing covery, and flow rates s surveyed. Attach fir	and shut if gas to	in pressures, v surface test, al	whether shong with fi	ut-in press	sure reach	ed static level, I	vdrostatic pres	sures, bottom	hole
Drill Stern Tests Take (Attach Additional		∑ Yo	es [No		∠ Log	ı Forn	nation (Top), De	pth and Datum	<u>∵</u> Sa	mple
Samples Sent to Geo	ological Survey	□ Y €	es 🔽 No		Name	s Shale		Top 3090'	Da -13	tum
Cores Taken Yes			inches and	Brown Lime				-13 -14		
Electric Log Run (Submit Copy) List All E. Logs Run:			es No	KC Lan	sing		3186' 3213'		27	
				Base KC		3450'		-16		
Dual Induction Dual Compens Sonic Cement	ated Porosity Lo Bond Log	g			Arbuck	ie		3578'	-11	797
		Pana	CASING I		New				Water & Commission Com	
Purpose of String	Size Hole	Siz	e Casing	Weig	ht	Setting	Туре о			d Percent
surface pipe	Drilled 12 1/4"	8 5/8	(în O.D.)	Lbs./ 23#		Dapth 249'	Common 39		Add 3% cc/2%	itives 6 ael
production	7 7/8"	5 1/3	2"	15.50		3658'	AA2	150	60/40 poz	
territoria de la compania del compania del compania de la compania del la compania de la compani	*						The second secon	t i		* * ***
enterent of the second of			ADDITIONAL	CEMENTIN	NG / SQUE	EZE REC	ORD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Sacks	Used		Туре	and Percent Addit	ives	
Shots Per Foot	PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated					Acid	Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Di			
3578-83'	4 holes/ft									· · · · · · · · · · · · · · · · ·
3584-88'	4 holes/ft						The second secon		¥	**************************************
h										e
TUBING RECORD	Size 2 7/"8	Set At 3608'		Packer A	t :	Liner Run	Yes	Z No		r San Grand
Date of First, Resumen 8/14/08	d Production, SWD or En	hr.	Producing Meth	• • •	Flowing	√ Pu	mping [] G	as Lift 🗔	Oliner (Explain)	****
Estimated Production Per 24 Hours	Oil 6	iols.	Gas I	Mcf	Water 2	, , , , , , , ,	Bòls.	Gas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF CO	OMPLETIC	М		1	Production	nterval		the state of the s	
Vented Sold (If vented, Su	Used on Lease		Open Hole Other (Specif	[√] Perf.	{ Dua	ally Comp.	[]] Comming	led		



Pratt

LA VETA OIL & GAS LLC

P O BOX 780

MIDDLE BURG ATTN:

VA 20118

BENNIE GRIFFIN

540 687-3258

1970-LAV006

INVOICE DATE

CUST NO

07/16/2008

INVOICE NUMBER

PAGE

2 of 2

1970002219

床. Fischer

Stafford

KS

MZIY

LEASE NAME

WELL NO.

COUNTY

STATE

JOB CONTACT

JOB DESCRIPTION Cement-New Well Casing/Pipe:

BENNIE GRIFFIN

JOB # 1970-02226	EQUIPMENT #	PURCHASE ORDER NO.		TERMS Net 30 DAYS	DUE DATE 08/15/2008	
		QTY	U of M	LINIT DDICE	INVOICE AMOUNT	
Additives		106.00		5.150	545.90	
Gas-Blok		700.00		3.100	040.00	
Additives		750.00	EA	0.670	502.50	
Gilsonite						
Additives		500.00	EA	0.860	430.00	
Mud Flush		704.00		2 500	050.00	
Additives Salt		704.00	EA	0.500	352.00	
San Additives		50.00	EA	2.000	100.00	
Sugar		30.00		2.000	100.00	
Cement		25.00	EA	11.000	275.00	
60/40 POZ						
Cement		150.00	EA	16.600	2,490.00	
AA2 Cement			1			
Supervisor	on in an Observan	1.00	Hour	175.000	175.00	
Service Supe	ervisor Charge		į.			
			1			
				•		
			ļ	į i		
			l	1		
					מבטרווייבה	
				KANSA	RECEIVED S CORPORATION COMMIS	
			1		OCT 17 2008	
			1		•	
					CONSERVATION DIVISION	
					WICHITA, KS	
			<u> </u>			
CACC DESSIT T	SEND.	OTHER CORRESPONDENCE TO	BID DISC	OUNT	-2,485.44	

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460

MIDLAND, TX 79702

SUBTOTAL TAX **INVOICE TOTAL** 9,941.76 286.62

10,228.38



Pratt

LA VETA OIL & GAS LLC

P O BOX 780

MIDDLE BURG ATTN:

VA 201**1**8 BENNIE GRIFFIN

CUST NO

1970-LAV006

INVOICE DATE 07/16/2008

INVOICE NUMBER

PAGE

1 of 2

1970002219

NAS-Mary

R. Fischer

LEASE NAME

WELL NO.

COUNTY

STATE

Stafford KS

JOB CONTACT

JOB DESCRIPTION Cement-New Well Casing/Piper

BENNIE GRIFFIN

JOB # 1970-02226	EQUIPMENT #	PURCHASE O	RDER NO.		TERMS Net 30 DAYS	DUE DATE 08/15/2008	
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT	
For Service Da	ates: 07/15/2008 to	07/15/2008					
970-02226					1 1		
1970-17940	Cement-New Well Cas	sing 7/15/08			1		
Pump Charge-I	Hourly		1.00	Hour	2160.000	2,160.00	
Depth Char Cementing Hea	ge; 3001'-4000'		4.00			·	
	ner Utilization		1.00	EA	250.000	250.00	
Charge							
Cement Float E Basket 5 1/2			1.00	EA	290.000	290.00	
Cement Float E			7.00	EA	75.000	52E 00	
Cement Scr	atchers Cable		7.00	LA	75.000	525.00	
<i>Type</i> Cement Float E	quinmont		4.00				
	e Insert Float		1.00	EA	215.000	215.00	
Valves				:	1		
Cement Float E Guide Shoe			1.00	EA	250.000	250.00	
Cement Float E			1.00	EA	105.000	105.00	
Top Rubber	Cement Plug		1.50	<u></u>	103.000	105.00	
Cement Float E Turbolizer	quipment		6.00	EA	110.000	660.00	
High Head Char	rge		1.00	EA	300.000	300.00	
High Head (_, \	300.000	300.00	
Mileage	d Mixing Service		175.00	DH	1.400	245.00	
Charge	a wixing Service						
Mileage			100.00	DH	7.000	700.00	
Heavy Equip Mileage	oment Mileage		408.00	C II	1.500	250.00	
•	d Bulk Delivery		406.00	DH	1.600	652.80	
Charges	•						
Pickup	Charge(Pickups,	(FD)	50.00	Hour	4.250	212.50	
Vans, or Car	rs) RECE	ATION COMMISSION					
Additives	kansas corpor	EIVED ATION COMMISSION	36.00	EA	4.000	144.00	
De-foamer Additives	UL I	\ 1 == 1	113.00	EA	7.500	847.50	
FLA-322		TON DIVISION	. 75.50	L ₂ /⁻₹	7.500	647.50	
	CONSE	WATION, KS					

ALLIED CEMENTING CO., LLC.

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Great Bend US

DATE 7 - 7 - 08	SEC.	TWP.	RANGE	CALLED OL	PM	ON LOCATION	JOB START	JOB FINISH
Many		1					COUNTY	STATE
LEASE FISHEY		1	LOCATION 281 -	KIA	934	East 1970	Statlove	<u> </u>
OLD OR NEW (Ci	rcle one)		·					
GOVERN COMON		. ~		01111				
CONTRACTOR \				OWNE	RTI	queta		
TYPE OF JOB	Sufact		250	СЕМЕ	ידיאי			
	2 311 . 5/4	T.D.	TH 250			DERED 250	SX Came	
TUBING SIZE		DEF				2% 6=1	-/- COMIN	-
DRILL PIPE		DEF				<u> </u>		
TOOL		DEP						
PRES. MAX			IIMUM	COMM	ion 2	50.5X	@13,50	3375,00
MEAS. LINE			E JOINT	POZMI			@	
CEMENT LEFT IN	CSG.	5 tres		GEL		5	@ 20.25	101.25
PERFS.	•			CHLO	RIDE_	8	@ 51,50	
DISPLACEMENT	14.	8		ASC_			@	
	EOU	PMENT		Suga	v 10	0#	_@ <i>\.\O</i>	110,00
c 6	-40				REC	EIVED	@	
G 6 PUMP TRUCK	CEMENITE	Dura	e Davis- 7.0	. KANSAS	S CORPO	RATION COMMISSION		
			a Davis	·			_ @	
BULK TRUCK	HELF EK	Galle	ν ρ-υυ.υ	· · · · · · · · · · · · · · · · · · ·	OCT	7 2008	_@	
	DRIVER	Carl	Staun		2112	:		
BULK TRUCK					NICE	TION DIVISION		
	DRIVER					263	-@ 2.25	<91 m<
	- · · · · · · · · · · · · · · · · · · ·				LING	63 x 26 x.		683.80
•	nn.	6 A D.Y.CO		WILLEA	IUE 🗻	6.) 4 20 4 11		5273.8
_		IARKS:					TOTAL	24 13,0
Kan New			& To Botton					
<u> </u>			LOOK TO Pum	P		SERV	CE	
			Co MON 3/2			- 054		
	_ /		Pis Pace wit		TOF JO	B 250		991,00
Release 14.8 BB		$\frac{\mathbf{w} \mathbf{p}}{2m}$	coment Did		A FOOT			7 11,00
14.0 NN		4-7-4-4		MILEA		^Ji	-@ 7, 50	195,00
Mantold	10 0	4 - 1-r-C			FOLD_			175,00
	<u></u>			hee		Rent	@ 110.00	110,00
					~—	134-61		
CHARGE TO: L	21111	0,141	کم هر ^ه ی					
CHARGE 10: A	(- (- 1-						
				•			TOTAL.	1296.00
STREET De P	box 7	80		-			TOTAL	1296.00
	box 7	80		-				
	box 7	80	ZIP 2011 8	•		PLUG & FLOA		
	box 7	80					T EQUIPMEN	T
	box 7	80				PLUG & FLOA Tw P		T
	box 7	80				Tw P	T EQUIPMEN	т <u>66,00</u>
CITY M: AAK Y	DOX 7	ATE UE			8 XX	τω ρ	T EQUIPMEN _ @	т 66,00
CITY MAJAL Y	ting Co., I	KO ATE <u>U F</u> LC.	ZIP 2011 8		8 54	Tw P	T EQUIPMEN	66, <i>0</i> 0
To Allied Cemen You are hereby re	ting Co., I	KO ATE U.F. LC. Direct cent	ZIP Zali 8		8 54	τω ρ	T EQUIPMEN	66, <i>0</i> 0
To Allied Cemen You are hereby re and furnish ceme	ting Co., I equested to nter and h	LC. o rent cent elper(s) to	ZIP ZOII 8		8 54	Tw P	T EQUIPMEN _@	T 66,00
To Allied Cemen You are hereby re and furnish ceme contractor to do y	ting Co., I equested to nter and h	LC. o rent cerrelper(s) to	ZIP Zali 8 nenting equipment of assist owner or the above work was		8 54	Tw P	T EQUIPMEN _@	66, <i>0</i> 0
To Allied Cemen You are hereby re and furnish ceme contractor to do y done to satisfacti	ting Co., I equested to nter and hwork as is on and supplemental to the control of the control o	LC. o rent cem elper(s) to listed. The	nenting equipment of assist owner or the above work was of owner agent or		8 <i>S</i> 4	τω ρ	T EQUIPMEN @ 66.00 @ @ TOTAL	66,00 66,00
To Allied Cement You are hereby reand furnish ceme contractor to do a done to satisfactic contractor. I have	ting Co., I equested to nter and h work as is on and super read and	LC. o rent cent elper(s) to elisted. The pervision understan	nenting equipment to assist owner or the above work was of owner agent or and the "GENERAL"		8 <i>S</i> 4	Tw P	T EQUIPMEN @ 66.00 @ @ TOTAL	66,00 66,00
To Allied Cement You are hereby reand furnish ceme contractor to do a done to satisfactic contractor. I have	ting Co., I equested to nter and h work as is on and super read and	LC. o rent cent elper(s) to elisted. The pervision understan	nenting equipment of assist owner or the above work was of owner agent or	SALES	Y S ¥	Tw ρ	T EQUIPMEN @ 66.00 @ @ TOTAL	66,00 66,00
To Allied Cement You are hereby reand furnish ceme contractor to do vidone to satisfactic contractor. I have TERMS AND Contractor.	ting Co., I equested to nter and h work as is on and super read and DNDITION	LC. o rent cemelper(s) to listed. The pervision understan NS" listed	nenting equipment to assist owner or the above work was of owner agent or and the "GENERAL"	SALES	STAX (τω ρ	T EQUIPMEN @ @ @ TOTAL	66,00 66,00